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2 10,800
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= 15,120
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=2 21,600
= 15,120
01 MXISAK == 36,720 0 36,720
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=2 21,600
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01 At2elt| 28,400 53,200 24,800




oF
R’

ok
o)

(e} (@) (@) (] () () o o o o o () —
[«] o o [«] o (<o}
O (] (] O (e) N~
R0 o | o 2|8 e g
Ko a4« J 14 < =
E <
D
o o o o o o (@] (e} o o o o (0]
o o (e} o o [«] [ee] (e} o (e} o (e} N~
(&) (] (] (e) o (] (e8] (ep] o (] (@) (] Lo
slo s lo s lo o | o oo ~ o @
($5) (ep] — — — — Al Al — — M~ Al (e8]
o 3r N S
<l o
KIS
o o o o o o o o o o o o o o o o o o o o (] o o o o o o o o o o o o o o o o o [ee]
[e] (] o o (] (=] o (] (] (] (] o o o o o o o o (] [e0) (e} (e} o o o (] (] o o o o (] o o o (] (] —
HnH S S oo ©®HEn S 9OlolS Slgld o|lodo|lnlm® ool S S S S S S SS9 S 9 S|x
Nl — ©O© 1O O o — AN AN ™ (ep) o o O (@) o O (] o O — — — O [eV) o O O O N M~ O O O O L0 v O (@)
— — e o= === | — |- —|~x|® § & & © - - ® ~ SUN e
3 o>
<
=
o] &
(ep) (<o}
o 20 o
[m]
Br ol 9 S
X0 s o op <
) = 5 8 = S
. 20 ujo kS 50 ujo ©
=] ok o) o 58 o 4 B 20 N o
s KO U0 ok + =z AN 30 30 - IH = =
= Mz B0 oK O 70 q rH Ki = 3
I+ mo< A o o 20 ® a1 K Ulo 0 =< 0 %0 =
B3 < <F M oy <k o0 ol 6D o <k H <k o) 10 or) ~ z I
. () W= 20 ) o 30 ] ® oF W 20 o o = o KF = m
- o = & F A0 s = 30 T R i o = R T 30 TR WS 0 or
= A A R U= = q ak =K = E= 280 K TR o™ R Z
1o} m o K ST 0 g Pl K 3D ujo M0 o 0 W O FWT T W
F |z & & = o vd 0 KF o = = 0k Ko KI O o) <1 Kf = B KF B0 OF = 7
e e s T ~ wd | o | & 0 31 RO H I Mo M I~ T MU B
OO 1<k 70 Ko mo <F 30 w0 B R oM<k T T |rlr < ol T H| ™| s M = kT Do owr AR
Sl R I W RO = W K[k w0 || or|nofno W w|S |/ @0 @0 & F S W OOF OF W oF md b
R st O O O W OO MmO O S| (o |ER M| |00 I[NNI R TN A I
K0 | ] ] O S| dla|lx Ol 0/HH O Ol U0 O oJd0OOOQO OO
) al | = ™ | ™ © [ = ™ | = ~ oy <~ 0 Mq_.m
o+ o
<




A ARSI
HH: MR B (SYHSSA/AY - ME)

ool sExAEzEs o (==L
_ _ _ Muo
SA - HH . CA(BH) - HREAY - BY2 Of) & o il i~ o Hm=2

= 8,259,086
= 1,191,732

g 3,121,710 2,588,886 532,824
= 2,932,385
= 189,325

206 T 2H 3,060,760 2,530,550 530,210
= 2,903,085
= 157,675

01 M2l 3,060,760 2,530,550 530,210
OXeAL R0 3,060,760
= 2,903,085
= 157,675

401 AlEZHIZ 20| 60,950 58,336 2,614
= 29,300
= 31,650

01 Al 60,950 58,336 2,614
Dauezouxy 60,950
= 29,300
= 31,650

ZEY(XH) 5,225,432 6,722,841 A1,497,409
= 4,408,501
= 816,931

403 THXIGHHS K20 H 5,205,432 6,722,841 A1,497,409
= 4,408,501
= 816,931

01 TXISHHT 2= 5,225,432 6,722,841 A 1,497,409
OX A 5,205,432
= 4,408,501
= 816,931

MEFLHE RS () 214,760 161,460 53,300
= 165,200
= 49,560
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=2 165,200
= 49,560
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= 165,200
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01 X XISHHIX 26 = 833,280 0 833,280
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[ 1,893,160

308 XXl EHHI SOl & 5,097,756 3,495,654 1,602,102
= 3,515,694
[ 1,582,062

01 HXSHBLRES 5,007,756 3,495,654 1,602,102
EIE=CIIE D 5,097,756
= 3,515,694
[ 1,582,062

403 XX SHHIS K20 H 1,002,426 979,122 23,304
= 691,328
= 311,098

01 XIXSGHSEX 1,002,426 979,122 23,304
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= 691,328
= 311,098
a2 NIN B ,406,414 1,740,000 666,414
308 XX HHSOIA ,869,000 1,250,500 618,500
01 AXEHMABLEXS ,869,000 1,250,500 618,500
[J&H= 2 K| CH 24 ,869,000
OAEZAIACIAY]
42,0002 *150 *1,30024 *10/100 819,000
OMATSHEHIME
200,000 *2,000M E+30/100 120,000
O’r= X 5Ha )| A Xt 930,000
403 KX SHMSK=01H 537,414 489,500 47,914
01 AXEMA=2E =R 537,414 489,500 47,914
OX A& SHA SRR 7
3,500,000 *300&+30/100 315,000
OMERANSHELSAIE
15,000, 000:& 309 £ +30/100 135,000
OCKNERNSLSI(0ENE)
900, 000& *150CH*30/100 40,500
CIAFS 2 AIAI A 12 X 20RI AL A B (GPS)
140,000 *1, 1172 +30/100 46,914
AMEY XA =& 131,320 44,320 87,000
201 LBt 124,320 37,320 87,000
01 AFR22lH| 121,920 34,920 87,000
g er==Z | 105,000
Ol THHEL (LIHAZE) 100,000
Ot=sngeEsiarel 5,000
LIl =l 6,000
OMENYLAZ S LS 6,000
= &l 10,920
Ou =X HM2RH A2 2= 10,920
02 3234l 2,400 2,400 0
OAIE &8l =Xl 2,400
Ot THILSAAIE 2,400
303 ZAa= 7,000 7,000 0
01 ZA3 7,000 7,000 0
OMESXEHIIRSLEAIZ LA 7,000
At HIAZ 0 & 3 I 271,162 0 271,162
= 271,162
308 MXIHHMSOIA 271,162 0 271,162
= 271,162
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MBSHPABZUR2SI AT L (ML /UY - ME) 43,036,693 46,581,118 A3,544,425
= 14,773,666
& 18,310,000
s 127,903
= 9,825,124
ASMEHHE S 11,179,105 4,751,499 6,427,606
= 8,127,905
2 127,903
& 2,923,297
MEU2IE S ALY 2,234 11,865 A9,631
= 2,234
202 (4 HI 2,234 11,865 A9,631
= 2,234
01 =LA bI 2,234 11,865 A9,631
OS2 ES 8 s=2L0 2,234
= 2,234
HEUZ2HE S AP (KIH) 2,129,290 2,526,953 A 397,663
= 1,653,316
[ 475,974
308 AXIHMSOIA 66,738 59,276 7,462
= 66,738
01 MAXEHMBLEXS 66,738 59,276 7,462
(JHEHESE8sNA 7,000
= 7,000
RS2t ASZHAEZXNA 59,738
= 59,738
403 X HMEAH=01H 2,062,552 2,467,677 AN405,125
= 1,586,578
& 475,974
01 MXESMA=E = 2,062,552 2,467,677 A405,125
OHSHAES ALY 2,062,552
= 1,586,578
= 475,974
ME2IESALE 20,000 20,000 0
308 MHXIHHMSOIA 20,000 20,000 0
01 AXSMIBAEEXS 20,000 20,000 0
eSS S 24 H 2l 10,000,000& *23| 20,000
OtMsAESETL 2L 364,000 208,060 155,940
= 280,000
& 84,000
403 XX S HS =0 H 364,000 208,060 155,940
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= 280,000
= 84,000
01 RXSHAX=SE 364,000 208,060 155,940
[0 A = 2 T 6} 0 2 Al &2 364,000
= 280,000
= 84,000
N 217,100 210,540 6,560
301 YsrEAS 1,500 0 1,500
12 JIEt2 A 1,500 0 1,500
DA DN LA 1,500
308 X+XI IS Ol & 215,600 210,540 5,060
01 MXSHBAEES 215,600 210,540 5,060
OOMESTHsSSH A 79,200
OoMSASES 136,400
OOMESTBHEHSY
2,000, 0002 x22JH Al 230/ 100 13,200
OOH S 2910/F 7]
5,0002 * 10, 000kg *30/ 100 15,000
OOt ES2AAIRRY
42,000 %2002 %352 ¥30/ 100 88,200
OO EA S5 MBI EA 20,000
NYSHIIHSSE 2 310,000 307,600 2,400
2 127,903
= 182,097
403 XHXISHHI S RH2 0| ® 310,000 307,600 2,400
= 127,903
= 182,097
01 MXSAX=SE 310,000 307,600 2,400
BEEESTEIOED 280,000
s 127,903
= 152,097
(A HEHE 5P oY E X BRI &
2,000, 00021 *507H %30/ 100 30,000
MNEBYSHEE 7,619,012 1,166,481 6,452,531
= 5,733,837
= 1,885,175
403 XHXISHAIS XH2 O & 7,619,012 1,166,481 6,452,531
=2 5,733,837
= 1,885,175
01 MXSHAX=SE 7,619,012 1,166,481 6,452,531
OSMes57 1,769,012
OMEHASAZ T 218,503
=2 168,079
= 50,424
O MEIASHRHHI 701,349
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= 412,558
= 288,791
OYSTUEYAZEZTHE (L) 849,160
= 653,200
< 195,960
Osg=2ssd 5,850,000
Otte el 2t Mg e N =d 5,850,000
= 4,500,000
S 1,350,000
SME= 517,469 0 517,469
= 458,518
< 58,951
403 A XIEHSXH=01H 517,469 0 517,469
= 458,518
S 58,951
01 MUXIEHMA=ZE = 517,469 0 517,469
e LAEXN =S 85,999
= 76,202
S 9,797
OsSdEUE=S& 23,620
= 20,930
= 2,690
OESAESTFI 2SS 2 407,850
= 361,386
S 46,464
SMENEES 6,233,369 9,908,947 A3,675,578
= 4,865,252
< 1,368,117
ArHHHNS LM (XR) 5,818,186 6,375,223 AbB57,037
= 4,865,252
< 952,934
308 AXISHSOIA 5,751,235 6,251,723 /500,488
= 4,813,752
< 937,483
01 MXEMISELS 5,751,235 6,251,723 /500,488
OaEEHS LM 5,751,235
= 4,813,752
S 937,483
403 AXHHSK=01H 66,951 123,500 A56,549
= 51,500
< 15,451
01 MXISMAZ2E = 66,951 123,500 56,549
OateEol S 2RI HEE 2 66,951
= 51,500
S 15,451
stEldoi S A 415,183 363,024 52,159




SH MREXD
I NYUBEPEUSIATALL (SEHYSA/YY - ME)
ol AETEES (el & 2
_ _ HE T
SA BB H(BH) - MBAY - B2 Ofl &+ 04 il b o B2
308 X+XI IS Ol & 307, 183 303,024 4,159
01 MXSHBABES 307, 183 303,024 4,159
PP EER 307, 183
OUEHHEASLH I 120,000
OTH & &0l 220121
46,2182 x252 * 127 2 *4524x30/100 167,183
403 RHXISHH SX20|H 108,000 60,000 48,000
01 MXSHAZDE 108,000 60,000 48,000
COF24HELEI 4,000 %90,0000H%30/ 100 108,000
NYRHBAEY 25,604,219 31,920,672 6,296,453
= 1,780,509
3 18,310,000
7 = 5,533,710
NYBY=MBIATL(S) 17,221,100 3,825,000 13,396, 100
3 13,247,000
= 3,974,100
403 RHEISHHSR20H 7,221,100 3,825,000 13,396, 100
3 13,247,000
= 3,974,100
01 UXSH=EE 17,221,100 3,825,000 13,396, 100
CIXI KR KbO1 5 242 X 7,074,600
3 5,442,000
= 1,632,600
mpPOI=INEE S~ 8,659,300
3 6,661,000
= 1,998,300
mIEIEETE S 130,000
=l 100,000
= 30,000
X ME XA 1,357,200
3 1,044,000
= 313,200
o bhis A O E N 2 6,148,500 4,106,572 2,041,928
3 5,063,000
= 1,085,500
403 RHXISHHSXH20IH 6,148,500 4,106,572 2,041,928
3 5,063,000
= 1,085,500
01 MXSHAZDE 6,148,500 4,106,572 2,041,928
CAHEMEIDIS X A 6,148,500
3 5,063,000
= 1,085,500
N BPESEEIE] 338,000 3,315,000 A2,977,000
= 260,000
= 78,000
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